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QUESTION 1

There is an element identified as r in the exhibit. What does this element describe in a UML 2.0 interaction diagram? 

A. timing signal from b 

B. found message, found by b 

C. lost message originating from b 

D. synchronous message to the environment of R 

E. asynchronous message to the environment of R 

Correct Answer: E 

 

QUESTION 2

A property is a feature that can be represented in what ways? (Choose two) 

A. as an association 

B. as an association end 

C. as an attribute in a class 

D. as an operation in a class 

E. as an indication of whether the feature is public or private 

Correct Answer: BC 

 

QUESTION 3
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Zev works as the librarian at the local library. an also borrow books as an ordinary library patron. many actors are
needed when modeling people like Zev in a use case diagram? 

A. 1 actor 

B. 2 unconnected actors 

C. 1 actor and 1 external system 

D. 2 actors connected by a generalization 

Correct Answer: B 

 

QUESTION 4

What does a rectangle on the border of an activity diagram (as depicted in the exhibit) esent in UML 2.0 activity
diagrams? 

A. pin 

B. port 

C. place 

D. entry state 

E. parameter node 

Correct Answer: E 

 

QUESTION 5

A circle with a solid circle inside and three incoming arrows is depicted in the exhibit. many of the arrows must provide
values for the circle to have an effect? 
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A. none 

B. one 

C. two 

D. three 

Correct Answer: B 
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